
rved from the abov t,se . . th. e we o t all bvmg mgs require 
. ·ties tlla y out their life processes acuv1 carr . . . 
t r to . 1 reactions occur m water wa e Jl1lca 1. . • 

Most che nY other 1vmg thing, also ·"e a . t· Seeds, hr- during germma 10n. 
atet . . .1 need wd also needh~1r, s1fm1 ar t? most 

see s 1·vi.Ilg t mgs, or respuation. 
•'-er t . th . . of the ou• present m e au IS used to 

oxidise the stored food and thus release 
energy. This energy is required for the 
the growth of the embryo. 

A suitable temperature is necessary 
for all chemical activities assisted by 
enzymes. Enzymes are inactive at low 
temperatures and get destroyed at 
higher temperatures. They act best at a 
temperature between 35° and 40°C. 

The oxygen i 
[ REVIEW QUESTIONS I I 

hoice Questions : 
Multiple C . 

p ta tick mark ( agamSt the correct alternative in the following statements : 
1. u I a germinating seed, the roots develop from . W n . 

(i) Radicle I (ii) Plumule D 
(iii) Tegmen D (iv) Hilum D 

(b) In a germinating seed, the shoot develops from: 
(i) Radicle D (ii) Plumule CZ) 

(iii) Tegmen D (iv) Hilum D 
(c) Which one of the foliowing is a monocotyledonous seed? 

(i) Bean D (ii) Pea D 
(iii) Maize [ZI (iv) Gram D 

(d) If the cotyledons are pushed above the soil, then such type of germination is called : 

(i) Epigeal (ii) Hypoge~l D 
( iii) Perigeal D (iv) Progeal D 

(e) If the cotyledons remain under the soil, then such type of germination is called : 

(i) Epigeal 

( iii) Perigeal 

(f) Pollen is produced in the : 

(i) Filament 

( iii) Pistil 

D 
D 

D 
CJ 

(ii) Hypogeal 

(iv) Progeal 

(ii) Style 

(iv) Anther 

[?j 
D 

D 
[Zf 

t--------------The Flower 
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(g) Reproductive whorls of a flower are : 

(i) Stamens and carpels [ 7 ] 
(iii) Sepals and stamens D 

d petals 
(ii) Sepals an 

d carpels 
(iv) petals an 

(Ii) Which one of the following is a false fruit ? 
(i) Tomato D (ii) Apple 

[_~ 
D 

D (iii) Potato 
(iv) Pea 

(i) In a seed, food is generally stored in : 

(i) Radicle 

D 
(ii) Plumule rns 

endosper LYJ 
(iv) Cotyledons or 

Short Answer Questions : ar1<ed 1 to 5 and~ 
. . L b 1 the parts rn 

(iii) Fruit 
D 
D 

1. Given below 1s a longitudinal section of a bean seed. a e . 
their functions. ' 

... : ....... ) ............... : •• ........ ••••••••••••••••• ••· I •••\ 
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········............................................... .. .. \ 

······················································ "''\ 

..................................................... .. .. , 

···················································· ... ,,, 

2. Name the following : 

(a) A seed which shows hypogeal germination. 

········································································································································· ......... , 
(b) A monocot seed. 

•••••••••••••••••••••••••••••• •••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••••u,., ... 

(c) A dicot seed. 

························································································································································ ... -
(d) A seed which shows epigeal germination. 

.. ······················································································•""""' 
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